!I = é a (& ‘ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
3,671 x 1000000 = 5,217 x 10 =
8,025 x 10000 = 3,107 x 1000 =
1,291 x 10000 = 7,684 x 100000 =
10, 538 x 100000 = 8,27 x10=
9,441 x 1000000 = 4,898 x 10000 =
8, 848 x 1000 = 6,922 x 100000 =
6,483 x 100000 = 4,931 x 10 =
2,741 x 10000 = 9,328 x 10000 =
7,385 x 1000 = 6,02 x 10000 =
8,575 x 10 = 10, 647 x 10000 =
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!I = é a & ‘ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
3,671 x 1000000 = 3671000 5,217 x 10 =52.17
8, 025 x 10000 = 80250 3,107 x 1000 = 3107
1,291 x 10000 = 12910 7,684 x 100000 = 768400
10, 538 x 100000 = 1053800 8,27 x 10 =82.7
9,441 x 1000000 = 9441000 4, 898 x 10000 = 48980
8, 848 x 1000 = 8848 6, 922 x 100000 = 692200
6, 483 x 100000 = 648300 4,931 x 10 =49.31
2,741 x 10000 = 27410 9,328 x 10000 = 93280
7,385 x 1000 = 7385 6, 02 x 10000 = 60200
8,575 x 10 = 85.75 10, 647 x 10000 = 106470
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